Subnetting

» Problem: deciding whether an IP address is
on a local L2 network

» Solution: nodes on a local network (and only
those) have IP addresses within a specific
range

» Simplifying HW implementation - subnets

IP address Subnet ID Host ID

Prefix length




P Prefix - Examples

» Range of 132.177.4.0/247
132.177.4.0 = 132.177.4.255

» Range of 132.177.4.0/227
132.177.4.0 = 132.177.7.255

» Range of 132.177.4.0/267
132.177.4.0 =& 132.177.4.63

» Range of 132.177.0.0/167
132.177.0.0 = 132.177.255.255

» Range of 0.0.0.0/07? (default gateway)
0.0.0.0 = 255.255.255.255
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P Prefix - Examples

» Prefix for range 132.177.32.0 = 132.177.33.2557
132.177.33.0/23

» Prefix for range 132.177.2.192 — 132.177.2.223%
132.177.2.192/27

» Prefix for range 132.177.1.0 = 132.177.2.2557
132.177.1.0/24
and (!)
132.177.2.0/24
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